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Solution to Problem 4.8

Assume that the generating function of the number in a batch is given by
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where βr=P{batch size = r}  r=1,2,....... Using this, the L.T. of the pdf of the batch service time
may be obtained as
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Once this is calculated, the rest of the procedure will be the same as given in Sec. 4.4 and used in
the earlier problem.
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Using the above, we can get
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The mean queueing delay Wqb before service can start to a batch is
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The mean queueing delay W2 within a batch will be
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Using these the mean queueing delay Wq for a job may be calculated as Wqb+W2.


